
Q.1 A ने ₹75,000 के िनवेश के साथ एक ʩवसाय शुŝ िकया और 5 महीने बाद ₹80,000 के िनवेश के
साथ B भी इस ʩवसाय मŐ शािमल हो जाता है। 1 वषŊ के बाद उɎŐ ₹4,08,800 का लाभ Ůाɑ होता है।
A और B का िहˣा (₹ मŐ) ǒात कीिजए।

Ans 1. 2,48,000 and 1,60,800

2. 2,52,000 and 1,56,800

3. 2,49,500 and 1,59,300

4. 2,50,000 and 1,58,800

Question ID : 264330121714

Status : Answered

Chosen Option : 2

Q.2

Ans 1. 25

2. 16

3. 36

4. 49

Question ID : 264330122832

Status : Answered

Chosen Option : 3

Q.3 बेलन का आयतन Ɛा होगा यिद बेलन की िũǛा 10 cm और ऊँचाई 20 cm हो? (π = 3.14 लŐ)
Ans 1. 6260 cm3

2. 6280 cm3

3. 5306 cm3

4. 5280 cm3

Question ID : 26433058253

Status : Answered

Chosen Option : 2
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Q.4 680 मीटर ऊँची एक इमारत के शीषŊ से एक टावर के शीषŊ का उɄयन कोण 45° है तथा उसी इमारत के
आधार से उस टावर के शीषŊ का उɄयन कोण 60° है। टावर की ऊँचाई ( मीटर मŐ) Ɛा है?

Ans 1. 310(3 + √3)

2. 340(3 - √3)

3. 340(3 + √3)

4. 310(3 - √3)

Question ID : 264330121759

Status : Answered

Chosen Option : 3

Q.5 Rs.60 Ůित kg की लागत वाले िकतने kg चावल को Rs.42 Ůित kg की लागत वाले 24 kg चावल के
साथ िमलाया जाना चािहए, तािक पįरणामी िमŵण को Rs.56 Ůित kg की दर से बेचने पर 12% का लाभ
हो सके?

Ans 1. 21.2 kg

2. 19.2 kg

3. 22 kg

4. 20 kg

Question ID : 26433056302

Status : Answered

Chosen Option : 2

Q.6 एक िŮǚ और एक िपरािमड का समान आधार और समान ऊंचाई है। िŮǚ और िपरािमड के आयतनो ं
का अनुपात ǒात कीिजए।

Ans 1. 3∶1
2. 1∶3
3. 2∶3
4. 3∶2

Question ID : 264330121752

Status : Answered

Chosen Option : 2

Q.7 350m लंबी एक मालगाड़ी 1250 m लंबी सुरंग को 80 सेकंड मŐ पार करती है। मालगाड़ी की चाल Ɛा
है?

Ans 1. 72 km/h

2. 56 km/h

3. 64 km/h

4. 78 km/h

Question ID : 264330126389

Status : Answered

Chosen Option : 1
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Q.8 िदए गए डेटा का बŠलक ǒात कीिजए।
5, 7, 9, 7, 3, 7, 5, 7, 8, 6, 7

Ans 1. 5

2. 6

3. 7

4. 3

Question ID : 264330122996

Status : Answered

Chosen Option : 3

Q.9

Ans 1. x = 1, y = 2

2. x = 1, y = 3

3. x = 3, y = 3

4. x = 3, y = 2

Question ID : 264330121656

Status : Answered

Chosen Option : 4

Q.10 रजनीश ने एक बœक से ₹1,500 की रािश उधार ली और दो समान वािषŊक िकʱों मŐ ɯाज सिहत पूरी
रािश चुका दी, जहां रजनीश ने बœक से उधार लेने के एक वषŊ बाद पहली िकʱ का भुगतान िकया। यिद
ɯाज की दर 40% वािषŊक थी और ɯाज वािषŊक ŝप से चŢवृİȠ होता था, तो रजनीश Ȫारा भुगतान
की गई Ůȑेक िकʱ का मूʞ (₹ मŐ) ǒात करŐ ।

Ans 1. 1125

2. 1225

3. 1470

4. 1350

Question ID : 264330122844

Status : Answered

Chosen Option : 3

Q.11 P, Q और R अकेले कायŊ करते Šए िकसी कायŊ को Ţमश: 5 िदन, 10 िदन और 15 िदन मŐ पूरा कर
सकते हœ। P और Q पहले िदन कायŊ करते हœ, P और R दूसरे िदन कायŊ करते हœ तथा P और Q तीसरे
िदन कायŊ करते हœ तथा इसी Ţम मŐ कायŊ करते हœ जब तक कायŊ पूरा नही ं हो जाता। कायŊ िकतने िदन मŐ
पूरा होगा?

Ans
1. 

2. 

3. 

4. 

Question ID : 264330121728

Status : Answered

Chosen Option : 3
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Q.12 एक ʩİƅ 8 शॉट मŐ से 5 बार िनशाना लगा सकता है। यिद वह 10 शॉट फायर करता है, तो इसकी Ɛा
Ůाियकता होगी िक वह दो बार िनशाना लगा लेगा?

Ans
1. 

2. 

3. 

4. 

Question ID : 264330121651

Status : Not Answered

Chosen Option : --

Q.13 यिद (A + B) का 20% = (A − B) का 30% है, तो B का िकतना Ůितशत A के बराबर है?

Ans 1. 300%

2. 100%

3. 500%

4. 400%

Question ID : 26433058905

Status : Answered

Chosen Option : 3

Q.14 एक रािश साधारण ɯाज पर 9 वषŊ मŐ ˢत: की ितगुनी हो जाती है। ɯाज की वािषŊक दर ǒात कीिजए।
Ans

1. 

2. 

3. 

4. 

Question ID : 264330126378

Status : Answered

Chosen Option : 2
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Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 264330126422

Status : Answered

Chosen Option : 1

Q.16 PQRS एक चŢीय चतुभुŊज है। यिद ∠P, ∠R का तीन गुना और ∠S, ∠Q का चार गुना है, तो ∠S + ∠R
का योग Ɛा होगा?

Ans 1. 169°

2. 171°

3. 189°

4. 187°

Question ID : 264330121660

Status : Answered

Chosen Option : 3

Q.17 िदया गया है िक ∆ABC ≅ ∆PQR, AB = 5 cm, ∠B = 40°, और ∠A = 80°। िनɻिलİखत मŐ से कौन-सा
िवकʙ सही है?

Ans 1. PQ = 5 cm और ∠P = 60°

2. PQ = 5 cm और ∠R = 60°

3. QR = 5 cm और ∠Q = 60°

4. QR = 5 cm और ∠R = 60°

Question ID : 264330126434

Status : Answered

Chosen Option : 2

Q.18 उन िबंदुओं के िनदőशांक ǒात कीिजए िजनमŐ आरेख 57x-19y=399 िनदőशांक अƗों को काटता है।
Ans 1. x- अƗ पर (-7,0) और y- अƗ पर (0,21)

2. x- अƗ पर (7,0) और y- अƗ पर (0,-21)

3. x-अƗ पर (7,0) और y- अƗ पर (0,21)

4. x- अƗ पर (-7,0) और y- अƗ पर (0,-21)

Question ID : 264330121743

Status : Answered

Chosen Option : 2
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Q.19 िनɻिलİखत संƥा समु̓चयो ं का औसत ǒात करŐ।
693, 456, 876, 532, 934, 691, 596, 398, 682

Ans 1. 550.50

2. 750.80

3. 725.90

4. 650.89

Question ID : 26433061239

Status : Answered

Chosen Option : 4

Q.20 एक İ̋ लयरŐस सेल मŐ, एक दुकानदार 45% की छूट देता है। यिद िकसी Ťाहक ने सेल के दौरान ₹330 मŐ
एक शटŊ ख़रीदी, तो उस शटŊ का अंिकत मूʞ Ɛा है?

Ans 1. ₹550

2. ₹500

3. ₹650

4. ₹600

Question ID : 26433058790

Status : Answered

Chosen Option : 4

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 264330126430

Status : Answered

Chosen Option : 3

Q.22 यिद चार अंको ं की संƥा 463y, 7 से िवभाǛ है, तो y का मान Ɛा होगा?
Ans 1. 3

2. 4

3. 6

4. 5

Question ID : 264330122833

Status : Answered

Chosen Option : 2
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Q.23

Ans 1. −1

2. 1

3. 2

4. 3

Question ID : 26433066408

Status : Answered

Chosen Option : 2

Q.24

Ans 1. 50

2. 58

3. 62

4. 66

Question ID : 264330122874

Status : Not Answered

Chosen Option : --

Q.25 Ůित िदन 10 घंटे काम करते Šए, 6 ʩİƅ एक िनिʮत समय मŐ एक दीवार बना सकते हœ। 12 ʩİƅ
Ůित िदन िकतने घंटे/िमनट काम करके उतने ही समय मŐ दीवार का िनमाŊण कर सकते हœ?

Ans 1. 5 घंटे

2. 7 घंटे 30 िमनट

3. 20 घंटे

4. 10 घंटे

Question ID : 26433061599

Status : Answered

Chosen Option : 1

Q.26 यिद दो एल.ई.डी. टी.वी. और एक मोबाइल फोन की कीमत ₹31,000 है, जबिक दो मोबाइल फोन और
एक एल.ई.डी. टी.वी. की कीमत ₹35,000 है, तो एक मोबाइल फोन की कीमत ǒात करŐ ।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063394

Status : Answered

Chosen Option : 3
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Q.27 िनɻिलİखत मŐ से कौन सी संƥा 11 से िवभाǛ है?

Ans 1. 2378965

2. 5648741

3. 6598321

4. 5214341

Question ID : 264330121707

Status : Answered

Chosen Option : 4

Q.28

Ans 1. 35

2. 14

3. 20

4. 2

Question ID : 264330121756

Status : Answered

Chosen Option : 3

Q.29 11 िविभɄ ŮेƗणो ं के एक समुǄय की माİȯका 73.2 है। यिद समुǄय के सबसे बड़े पांच ŮेƗणो ं मŐ से
Ůȑेक मŐ 3 की वृİȠ की जाती है, तो इस नए समुǄय की माİȯका :

Ans 1. 3 घट जाती है

2. 3 बढ़ जाती है

3. मूल समुǄय की माİȯका की 3 गुना हो जाती है

4. मूल समुǄय की माİȯका के समान ही रहती है

Question ID : 264330121733

Status : Answered

Chosen Option : 4

Q.30 तीन अंको ं की सबसे बड़ी संƥा जो 3, 5 और 9 से िवभािजत होने पर समान शेषफल 2 देती है,
________ है।

Ans 1. 984

2. 998

3. 999

4. 992

Question ID : 26433085415

Status : Answered

Chosen Option : 4

Section : Reasoning and General Intelligence
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Q.1 यिद + का अथŊ − है, − का अथŊ × है, × का अथŊ ÷ है, और ÷ का अथŊ + है, तो िनɻिलİखत ʩंजक का मान
Ɛा होगा?
3 ÷ 6 + 3 – 4 × 4 = ?

Ans 1. 6

2. 5

3. 8

4. 4

Question ID : 26433068610

Status : Answered

Chosen Option : 1

Q.2 नीचे एक Ůʲ और उसके बाद दो कथन Ţमांक (I) और (II) िदए गए हœ। आपको यह तय करना है िक
कथनो ं मŐ िदया गया डाटा Ůʲ का उȅर देने के िलए पयाŊɑ है या नही।ं दोनो ं कथनो ं का अȯयन कीिजए
और उपयुƅ उȅर का चयन कीिजए।

Ůʲ: चार ʩİƅ A, B, C और D एक सीधी पंİƅ मŐ दिƗण की ओर मुख करके बैठे हœ। दाएँ छोर पर
कौन बैठा है?

कथन:
(I) B और D के बीच मŐ केवल दो ʩİƅ बैठे हœ; A, B के ठीक बाएं बैठा है।
(II) B और C के बीच मŐ केवल एक ʩİƅ बैठा है; A, C के ठीक दाएं बैठा है।

Ans 1. कथन I मŐ िदया गया डाटा अकेले Ůʲ का उȅर देने के िलए पयाŊɑ है जबिक कथन II मŐ िदया गया
डाटा Ůʲ का उȅर देने के िलए पयाŊɑ नही ं है

2. कथन I और II दोनों मŐ िदया गया डाटा िमलकर Ůʲ का उȅर देने के िलए पयाŊɑ है

3. या तो कथन I मŐ िदया गया डाटा अकेले या कथन II मŐ िदया गया डाटा अकेले Ůʲ का उȅर देने के
िलए पयाŊɑ है

4. कथन II मŐ िदया गया डाटा अकेले Ůʲ का उȅर देने के िलए पयाŊɑ है जबिक कथन I मŐ िदया गया
डाटा Ůʲ का उȅर देने के िलए पयाŊɑ नही ं है

Question ID : 264330121194

Status : Answered

Chosen Option : 2

Q.3 A # B' का अथŊ है 'A, B का भाई है'।
'A @ B' का अथŊ है 'A, B की पुũी है'।
'A & B' का अथŊ है 'A, B का पित है'।
'A % B' का अथŊ है 'A, B की पȉी है'।
यिद D @ N @ H & Y @ F % V है, तो Y, D से िकस Ůकार संबंिधत है?

Ans 1. नानी

2. पुũी की पुũी

3. भांजी

4. माँ

Question ID : 264330126286

Status : Answered

Chosen Option : 1
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Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 264330128894

Status : Answered

Chosen Option : 4
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Q.5

Ans

1. 

2. 

3. 

4. 

Question ID : 26433083132

Status : Answered

Chosen Option : 4

Q.6 नीचे एक Ůʲ िदया गया है िजसके बाद दो कथन I और II िदए गए हœ। दोनो ं कथनो ं को ȯानपूवŊक पढ़कर
तय कीिजए िक इनमŐ से कौन सा कथन, Ůʲ का उȅर देने के िलए पयाŊɑ है।
छ: ʩİƅ - K, M, N, P, Q और R एक गोल मेज के पįरत: कŐ ū की ओर अिभमुख होकर बैठे हœ। P के
बाईं ओर दूसरे ̾थान पर कौन बैठा है?
(I) K, P के ठीक दाएं बैठा है। P और Q के बीच केवल दो ʩİƅ बैठे हœ। R, M के दाईं ओर दूसरे ̾थान
पर बैठा है।
(II) N और M के बीच केवल दो ʩİƅ बैठे हœ। Q, M का िनकटतम पड़ोसी है। Q और K के बीच केवल
एक ʩİƅ बैठा है।

Ans 1. कथन I का डेटा अकेले Ůʲ का उȅर देने के िलए पयाŊɑ है जबिक कथन II का डेटा पयाŊ̪त नही ं है।

2. कथन II का डेटा अकेले Ůʲ का उȅर देने के िलए पयाŊɑ है जबिक कथन I का डेटा पयाŊ̪त नही ं है।

3. कथन I और II के डेटा िमलकर भी Ůʲ का उȅर देने के िलए पयाŊɑ नही ं है।

4. कथन I और II के डेटा िमलकर Ůʲ का उȅर देने के िलए पयाŊɑ हœ।

Question ID : 264330121434

Status : Answered

Chosen Option : 4
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Q.7 िनɻिलİखत शɨों मŐ तीन शɨ िकसी न िकसी Ůकार एक समान हœ और इसिलए एक समूह का िनमाŊण
करते हœ। कौन-सा श̭द उस समूह से संबंिधत नही ं है? (शɨों को अथŊपूणŊ अंŤेजी शɨों के ŝप मŐ माना
जाना चािहए और शɨ मŐ अƗरो ं की संƥा / ʩंजनो ं/ ˢरों की संƥा के आधार पर उɎŐ समूहबȠ नही ं
िकया जाना चािहए)

Ans 1. अȯापक (Teacher)

2. बढ़ई (Carpenter)

3. इंजीिनयर (Engineer)

4. डॉƃर (Doctor)

Question ID : 26433065632

Status : Answered

Chosen Option : 2

Q.8 इस Ůʲ मŐ, एक कथन के बाद दो िनʺषŊ िदए गए हœ। दोनो ं मŐ से कौन-सा/से िनʺषŊ सȑ है/हœ?
कथन: Z = E ≥ R > G < Y > Q = F
िनʺषŊ:
I. R < F
II. R ≥ Z

Ans 1. िनʺषŊ I और II दोनों सȑ हœ।

2. केवल िनʺषŊ I सȑ है।

3. न तो िनʺषŊ I और न ही II सȑ है।

4. केवल िनʺषŊ II सȑ है।

Question ID : 26433057324

Status : Answered

Chosen Option : 3

Q.9 इस Ůʲ मŐ एक कथन के बाद दो कारŊवाइयाँ Ţमांक I और II दी गई हœ। आपको कथन मŐ दी गई सभी
बातो ं को सȑ मानना है और कथन मŐ दी गई जानकारी के आधार पर यह तय करना है िक कौन-सी
कारŊवाई/कारŊवाइयाँ करने के िलए तािकŊ क ŝप से अनुसरण करती है/हœ।
कथन: िकसी कंपनी के तकनीकी अनुभाग मŐ कुछ गंभीर ũुिटयाँ पाई गई।
कायŊवाही:
I. तकनीकी ũुिटयो ं की जाँच के िलए एक कुशल तकनीकी टीम िनयुƅ की जानी चािहए।
II. अिनयिमतताओं मŐ शािमल सभी कमŊचाįरयो ं को कारण ˙ʼीकरण नोिटस जारी िकया जाना चािहए।

Ans 1. केवल I अनुसरण करता है

2. केवल II अनुसरण करता है

3. न तो I न ही II अनुसरण करता है

4. I और II दोनों अनुसरण करते हœ

Question ID : 264330123206

Status : Answered

Chosen Option : 1ww
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Q.10 िनɻिलİखत मŐ से कौन से अƗर-समूह को, # और % को Ůित̾थािपत करना चािहए तािक :: के बाईं ओर
के अƗर-समूह युƵ के बीच का पैटनŊ और संबंध वैसा ही हो जैसा िक :: के दाईं ओर के अƗर-समूह
युƵ का है?
# : KNE :: PQV : %

Ans 1. # = NKF, % = MTU

2. # = MOB, % = RTT

3. # = HQD, % = MTV

4. # = NOB, % = SRY

Question ID : 264330121404

Status : Answered

Chosen Option : 1

Q.11 तीन कथन िदए गए हœ, िजनके बाद I, II और III से Ţमांिकत तीन िनʺषŊ िदए गए हœ। कथनो ं को सȑ
मानते Šए, भले ही वे सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत होते हो,ं िनणŊय लीिजए िक कौन-सा/से
िनʺषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करता/करते है/हœ।
कथन:
कुछ चूिड़याँ, कंगन हœ।
सभी चेन, अंगूिठयाँ हœ।
कुछ कंगन, चेन हœ।
िनʺषŊ:
(I) कुछ चूिड़याँ, अंगूिठयाँ हœ।
(II) कुछ चेन, चूिड़याँ हœ।
(III) कुछ अंगूिठयाँ, कंगन हœ।

Ans 1. केवल िनʺषŊ III अनुसरण करता है।

2. िनʺषŊ I और III दोनों अनुसरण करते हœ।

3. केवल िनʺषŊ I अनुसरण करता है।

4. िनʺषŊ I और II दोनों अनुसरण करते हœ।

Question ID : 26433068963

Status : Answered

Chosen Option : 2

Q.12 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ , िजसे िदए गए समीकरण मŐ * िच˥ो ं के ̾थान पर
Ţिमक ŝप से रखे जाने पर समीकरण संतुिलत हो जाए।
11 * 7 * 345 * 5 * 31 = 115

Ans 1. ÷ × + −

2. × + ÷ −

3. ÷ − + ×

4. + × ÷ −

Question ID : 26433068109

Status : Answered

Chosen Option : 2
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Q.13 अिमत अपनी कƗा मŐ ऊपर से 7वŐ और नीचे से 26वŐ ̾थान पर है। कƗा मŐ िकतने छाũ हœ?
Ans 1. 27

2. 31

3. 33

4. 32

Question ID : 264330121141

Status : Answered

Chosen Option : 4

Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 264330101257

Status : Answered

Chosen Option : 1

Q.15 एक कूट भाषा मŐ 'SLAIN' को 'PKCNU' िलखा जाता है और 'DENT' को 'VPGF' िलखा जाता है। उसी
भाषा मŐ 'CUBOID' को कैसे िलखा जाएगा?

Ans 1. FJQDWE

2. EWDPKE

3. FKQDWE

4. FKQDVF

Question ID : 26433068947

Status : Answered

Chosen Option : 3
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Q.16 िदए गए िवकʙों मŐ से वह संƥा चुिनए, जो िनɻिलİखत Şंखला मŐ Ůʲ-िच˥ (?) को Ůित̾थािपत कर
सके।
242, 288, ?, 392, 450

Ans 1. 324

2. 316

3. 338

4. 375

Question ID : 26433074537

Status : Answered

Chosen Option : 3

Q.17 A # B' का अथŊ है 'A, B का भाई है'।
'A @ B' का अथŊ है 'A, B की पुũी है'।
'A & B' का अथŊ है 'A, B का पित है'।
'A % B' का अथŊ है 'A, B की पȉी है'।
यिद Z% X # C @ V & B @ N है, तो Z, B से िकस Ůकार संबंिधत है?

Ans 1. सास

2. पुũवधू

3. माता

4. पुũी

Question ID : 264330126291

Status : Answered

Chosen Option : 2

Q.18 उस िवकʙ का चयन करŐ जो उन अƗरो ं का Ůितिनिधȕ करता है, िजɎŐ िनɻिलİखत įरƅ ̾थानो ं मŐ
बाएं से दाएं रखे जाने पर अƗर-ŵंृखला पूरी हो जाएगी।
S C R _ W S _ R _ W _ C _ G W S _ R H _

Ans 1. H D F S R C W

2. E D F S R D W

3. E C F S R C W

4. G D F S R C W

Question ID : 264330126280

Status : Answered

Chosen Option : 4
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Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 264330128899

Status : Answered

Chosen Option : 2

Q.20 नीचे दी गयी जानकारी िदए गए अƗरो ं के िलए संƥा कूट दशाŊती हœ। संƥाओं के उस संयोजन का
चयन कीिजए िजससे िक अƗरो ं को तदनुसार ʩवİ̾थत करने से एक साथŊक शɨ बनाया जा सके।

R = 1, E = 2, A = 3, C = 4, T = 5, I = 6, V = 7, E = 8

Ans 1. 7,2,1,3,8,4,5,6

2. 4,1,2,3,5,6,7,8

3. 4,3,1,5,6,7,8,2

4. 4,1,2,3,5,8,7,6

Question ID : 264330121087

Status : Answered

Chosen Option : 2

Q.21 एक िनिʮत कूट भाषा मŐ, 'POLISH' को '89' िलखा जाता है और 'CLIP' को '72' िलखा जाता है। उसी
भाषा मŐ 'CONTROL' को कैसे िलखा जाएगा?

Ans 1. 99

2. 92 

3. 89

4. 106

Question ID : 264330126265

Status : Answered

Chosen Option : 4
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Q.22 उस िवकʙ का चयन करŐ , िजसमŐ िनɻ आकृित सिɄिहत है। (घूणŊन की अनुमित नही ं है)

Ans

1. 

2. 

3. 
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4. 

Question ID : 264330121395

Status : Answered

Chosen Option : 4

Q.23 इस Ůʲ मŐ दो कथन I और II िदए गए हœ। ये कथन ˢतंũ कारण या ˢतंũ कारणो ं या एक उभयिनʿ
कारण के Ůभाव हो सकते हœ। एक कथन दूसरे कथन का Ůभाव हो सकता है। दोनो ं कथनो ं को पढ़Ő और
सही उȅर का चयन करŐ।
I.िपछले दो वषŘ मŐ कंपनी P के 22% कमŊचाįरयो ं को नौकरी से िनकाला गया।
II.िपछले दो वषŘ मŐ कंपनी P ने अपनी कई Ůमुख संपिȅयो ं को बेच िदया है।

Ans 1. II कारण है और I इसका संभािवत Ůभाव है।

2. I कारण है और II इसका संभािवत Ůभाव है।

3. I और II दोनों एक उभयिनʿ कारण के Ůभाव हœ।

4. I और II दोनों ˢतंũ कारण हœ।

Question ID : 264330123146

Status : Answered

Chosen Option : 3
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Q.24

Ans

1. 

2. 

3. 

4. 

Question ID : 264330126302

Status : Answered

Chosen Option : 3

Q.25 िनɻिलİखत चार िũक मŐ से तीन एक िनिʮत तरीके से समान हœ Ɛोंͤिक वे आपस मŐ समान गिणतीय
संिŢयाएं करके िनिमŊत Šए हœ और इस Ůकार वे एक समूह बनाते हœ। िवक̵पो ं मŐ िदए िũको ं मŐ से कौन-
सा िũक उस समूह से संबंिधत नही ं है?

Ans 1. 9 : 17 : 81

2. 11 : 21 : 121

3. 2 : 3 : 4

4. 7 : 15 : 49

Question ID : 264330126248

Status : Answered

Chosen Option : 2

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.26 सात ʩİƅ एक वृȅाकार 'खाने की मेज' के पįरतः कŐ ū की ओर अिभमुख होकर बैठे हœ। S, Y के ठीक
बाएँ तथा R के दाईं ओर तीसरे ̾थान पर बैठा है। R, A के ठीक बाएँ तथा P के ठीक दाएँ बैठा है। A, D
के ठीक बाएँ बैठा है। Q, P के ठीक बाएँ बैठा है। यिद D, Y के साथ तथा P, Q के साथ अपना ̾थान
बदल लेता है, तो D के ठीक दाएँ कौन बैठा होगा?

Ans 1. R

2. Q

3. S

4. P

Question ID : 26433081995

Status : Answered

Chosen Option : 2

Q.27

Ans
1. 

2. 

3. 

4. 

Question ID : 264330102480

Status : Answered

Chosen Option : 2
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Q.28

Ans

1. 

2. 

3. 

4. 

Question ID : 264330128893

Status : Answered

Chosen Option : 4

Q.29 उस समुǄय का चयन कीिजए िजसमŐ संƥाएँ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत समुǄयो ं
की संƥाएँ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर संिŢयाएँ की जानी
चािहए। उदाहरण के िलए 13 - इसमŐ 13 पर जोड़ने / घटाने / गुणा करने आिद जैसी संिŢयाओं को 13 मŐ
िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करने और िफर 1 और 3 पर गिणतीय संिŢयाएँ करने
की अनुमित नही ं है)
(18, 39, 60), (27, 48, 69)

Ans 1. (17, 28, 49)

2. (35, 56, 77)

3. (31, 52, 84)

4. (24, 64,96)

Question ID : 264330126246

Status : Answered

Chosen Option : 2
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Q.30 आकृित A एक िनिʮत पैटनŊ के अनुसार B से संबंिधत है। उसी पैटनŊ का अनुसरण करते Šए आकृित C,
D से संबंिधत है। पैटनŊ का अȯयन करŐ और उस आकृित का चयन करŐ , िजसे D के ̾थान पर रखा जाना
चािहए।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330121403

Status : Answered

Chosen Option : 2

Q.1 Identify the INCORRECTLY spelt word in the given sentence.
If she had begun earlier, she might have suceeded in finishing the extremely intricate
project before the deadline.

Ans 1. suceeded

2. intricate

3. deadline

4. earlier

Question ID : 26433059972

Status : Answered

Chosen Option : 1

Section : English Language and Comprehension
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Q.2 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A) The Sustainable Development Goals (SDGs) were adopted by all United Nations
Member States in 2015 to end poverty, reduce inequality and build more peaceful,
prosperous societies by 2030.
B) The SDGs cannot be achieved without the realisation of child rights.
C) Also known as the Global Goals, the SDGs are a call to action to create a world
where no one is left behind.
D) As world leaders work to deliver on the 2030 promise, children around the globe are
standing up to secure their right to good health, quality education, a clean planet and
more.

Ans 1. ADBC

2. ACBD

3. ADCB

4. ABDC

Question ID : 264330122779

Status : Answered

Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the underlined word.

Aunt May thought that Uncle Ken’s job as a manager at Firpo’s hotel in Shimla was a
stable one.

Ans 1. Lucrative

2. Mutable

3. Durable

4. Permanent  

Question ID : 26433070536

Status : Answered

Chosen Option : 2

Q.4 Select the most appropriate option to fill in the blank.
The security guard needs a _______ of shoes.

Ans 1. payor

2. pare

3. pear

4. pair

Question ID : 26433058531

Status : Answered

Chosen Option : 4

Q.5 Select the option that expresses the given sentence in indirect speech.
She said impatiently, “I don’t need any help.”

Ans 1. She said impatiently that she doesn’t need any help. 

2. She said impatiently that she didn’t need any help. 

3. She said impatiently she don’t need any help.  

4. She said impatiently that I don’t need any help. 

Question ID : 26433059181

Status : Answered

Chosen Option : 2

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.6 Select the most appropriate option to fill in the blank.
The committee will ________________ a survey on the government schemes.

Ans 1. hold 

2. fight

3. conduct 

4. originate

Question ID : 26433058500

Status : Answered

Chosen Option : 3

Q.7 Select the correct homonym from the given options to fill in the blank.
The athlete’s________ was badly injured due to a fall on the track.

Ans 1. toad 

2. to

3. toe

4. tow

Question ID : 264330120787

Status : Answered

Chosen Option : 3

Q.8 Select the option that expresses the given sentence in direct speech.
Harry said that he would not be in town on Friday.

Ans 1. Harry said, “I can’t be in town on Friday”.

2. Harry said, “I will not be in town on Friday”.

3. Harry said, “I must not be in town on Friday”.

4. Harry saying, “I will not be in town on Friday”.

Question ID : 26433070765

Status : Answered

Chosen Option : 2

Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Everybody stared / when me / entered the / drawing room.

Ans 1. entered the

2. drawing room

3. Everybody stared

4. when me

Question ID : 26433061482

Status : Answered

Chosen Option : 4
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Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Daniel sat on / his new bike / and went afar / a ride.

Ans 1. Daniel sat on

2. his new bike

3. and went afar

4. a ride

Question ID : 26433061470

Status : Answered

Chosen Option : 3

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.
The one who loves mankind

Ans 1. Optimist 

2. Misogynist

3. Pessimist

4. Philanthropist

Question ID : 26433060818

Status : Answered

Chosen Option : 4

Q.12 Select the most appropriate meaning of the highlighted idiom.
The employee took the manager’s remark with a pinch of salt

Ans 1. Ever ready to condemn someone 

2. Doubt the truth or value of something

3. Going for the truth

4. Distasteful and boring 

Question ID : 264330120743

Status : Answered

Chosen Option : 2

Q.13 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
P. The prices of cooking gas, pulses and vegetables have registered a sharp rise.
Q. In recent years the prices of essential commodities have gone up sharply.
R. The low-income groups and the salaried classes are the worst sufferers.
S. Living has become quite a costly affair these days.

Ans 1. QSRP

2. RPSQ

3. PQRS

4. SRQP

Question ID : 264330121860

Status : Answered

Chosen Option : 4
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Q.14 Select the most appropriate meaning of the given idiom.

Water under the bridge

Ans 1. A seasoned crop with a heavy demand 

2. Difficult situations in one’s life 

3. Past events that are not important anymore

4. Promises that are made to someone and never fulfilled

Question ID : 26433089764

Status : Answered

Chosen Option : 3

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Bloomberg Businessweek is not more popular than some other business magazines in
the US.

Ans 1. as more popular than

2. the most popular than

3. No substitution required  

4. so popular than

Question ID : 26433058619

Status : Answered

Chosen Option : 2

Q.16 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. No country has yet achieved the combination of very high human development with
a light ecological footprint and the impacts of climate change and biodiversity loss are
growing.
B. Compounded by a climate emergency, political polarization and challenged
multilateralism, continued conflicts, and forced displacement, the number of people
living in poverty rose in 2020 for the first time since 1998 by an estimated 119-124
million and inequalities are growing, and the traditional social contract is no longer
working for many.
C. The challenge of reaching Agenda 2030 was already significant, even before the
COVID-19 pandemic hit.
D. Today’s development challenges are dynamic, interconnected puzzles of
multidimensional risk that require systemic solutions and multilateral cooperation is
vital in addressing these shared challenges that cross boundaries of geography and
time.

Ans 1. CBDA

2. BCDA

3. ABDC

4. DBAC

Question ID : 26433060241

Status : Answered

Chosen Option : 1
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Q.17 Select the option that expresses the given sentence in active voice.
A new invention has been made by him.

Ans 1. He were making a new invention. 

2. He has made a new invention.

3. He was making a new invention. 

4. He had been making a new invention. 

Question ID : 264330123912

Status : Answered

Chosen Option : 2

Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. I was almost drowned a dozen times; was nearly boiled alive and just missed being
cremated.
B. Now, my well-being is simply the result of a careful and measured mode of living
and perhaps the most astonishing thing is that three times in my youth I was rendered
by illness a hopeless physical wreck and given up by physicians.
C. More than this, through ignorance, and light-heartedness, I got into all sorts of
difficulties, dangers and scrapes from which I extricated myself as by enchantment.
D. But as I recall these incidents to my mind I feel convinced that my preservation was
not altogether accidental.

Ans 1. CADB

2. DCAB 

3. BCAD 

4. BADC 

Question ID : 264330123966

Status : Answered

Chosen Option : 3

Q.19 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.
S1. In Dr. Babasaheb Ambedkar
A. but also an elder statesman and national leader
B. we have not only a crusader against the caste system,
C. a valiant fighter for the cause of the downtrodden in India
D. whose contribution in the form of the Constitution of India
S6. will be cherished forever by posterity.

Ans 1. CABD 

2. ABCD 

3. DABC 

4. BACD

Question ID : 26433063576

Status : Answered

Chosen Option : 4
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Q.20 Select the most appropriate option to fill in the blank.
When the victim narrated his version of the incident, the jury was _________ .

Ans 1. honestly satisfied

2. excruciatingly satisfied

3. completely satisfied

4. perfectly satisfied

Question ID : 264330121886

Status : Answered

Chosen Option : 3

Q.21 Sentences of a paragraph are given in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. Instead, they are constrictors, meaning they squeeze their prey to death before
swallowing it whole.
B. Agile on water but awkward on land, the green anaconda is one of the largest
snakes in the world.
C. Most people assume that anacondas are very poisonous, but they are actually non-
venomous.
D. At 29 feet long and 550 pounds, these snakes are huge!

Ans 1. BDCA

2. DABC

3. BACD

4. BCAD

Question ID : 26433070665

Status : Answered

Chosen Option : 1

Q.22 Select the most appropriate ANTONYM of the underlined word.

The audience sneered at the monologue uttered by the veteran actor.

Ans 1. Waved

2. Lauded  

3. Ascribed  

4. Unleashed  

Question ID : 26433070531

Status : Answered

Chosen Option : 2

Q.23 Select the most appropriate meaning of the underlined word in a sentence.

Even though James won the election, he has not brought any of his campaign
promises to fruition.

Ans 1. disappointment

2. accomplishment  

3. nourishment 

4. concealment  

Question ID : 26433055999

Status : Answered

Chosen Option : 3
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Q.24 Select the option that expresses the given sentence in passive voice.
The courier boy did not deliver the parcel.

Ans 1. The parcel did not deliver by the courier boy. 

2. The parcel had not been delivered by the courier boy.

3. The parcel had not delivered by the courier boy. 

4. The parcel was not delivered by the courier boy.

Question ID : 26433058494

Status : Answered

Chosen Option : 4

Q.25 Identify the INCORRECTLY spelt word in the given sentence.
The board reviewing the courses offered by the afiliated college found that the quality
of academic programs was usually good but somewhat irregular.

Ans 1. review

2. irregular

3. afiliated

4. academic

Question ID : 26433061583

Status : Answered

Chosen Option : 3

Q.26 Select the most appropriate option to fill in the blank.

Nowadays, online shopping is easier ________ shopping in a market.

Ans 1. than

2. then

3. as

4. like

Question ID : 26433061501

Status : Answered

Chosen Option : 1

Q.27 Select the option that expresses the given sentence in direct speech.

The mother said that the kids were playing.

Ans 1. The mother has said, “The kids were playing”. 

2. The mother said, “The kids are playing”.

3. The mother said, “The kids have been playing”. 

4. The mother told, “The kids had been playing”. 

Question ID : 26433063615

Status : Answered

Chosen Option : 2
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Q.28 Select the option that can be used as a one-word substitute for the given group of
words.

An arched structure in a garden having climbing plants

Ans 1. Pergola

2. Path

3. Shelter

4. Shed

Question ID : 26433070721

Status : Answered

Chosen Option : 1

Q.29 Select the option that expresses the given sentence in active voice.

The story of his uncle’s mysterious disappearance was first heard by Rajat in his
childhood

Ans 1. Rajat first heard the story of his uncle’s mysterious disappearance in his childhood.

2. Rajat’s first story that uncle heard in his childhood was about his mysterious
disappearance.

3. The story Rajat first heard in his childhood was about his uncle’s mysterious
disappearance.

4. The story uncle heard first time was about Rajat’s mysterious disappearance in his
childhood.

Question ID : 26433055599

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Sun is the star at the center of (1) __________ Solar System. It is a nearly perfect ball of
hot plasma. The Sun has inspired us since ancient times. It’s central to mythology and religion
in (2) ____________ around the world. It keeps our planet warm enough for living things to
grow. It gives us light so we can see. It is by far the most important (3) _________of energy
for life on Earth. It is about a hundred times as wide (4)________ the Earth. If there were no
sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would
have caused no existence of life.

SubQuestion No : 30

Q.30 Select the most appropriate option to fill in blank number 1.

Ans 1. huge

2. a

3. the

4. typical

Question ID : 264330128945

Status : Answered

Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Sun is the star at the center of (1) __________ Solar System. It is a nearly perfect ball of
hot plasma. The Sun has inspired us since ancient times. It’s central to mythology and religion
in (2) ____________ around the world. It keeps our planet warm enough for living things to
grow. It gives us light so we can see. It is by far the most important (3) _________of energy
for life on Earth. It is about a hundred times as wide (4)________ the Earth. If there were no
sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would
have caused no existence of life.

SubQuestion No : 31

Q.31 Select the most appropriate option to fill in blank number 2.

Ans 1. processes

2. types

3. cultures

4. scenes

Question ID : 264330128946

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Sun is the star at the center of (1) __________ Solar System. It is a nearly perfect ball of
hot plasma. The Sun has inspired us since ancient times. It’s central to mythology and religion
in (2) ____________ around the world. It keeps our planet warm enough for living things to
grow. It gives us light so we can see. It is by far the most important (3) _________of energy
for life on Earth. It is about a hundred times as wide (4)________ the Earth. If there were no
sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would
have caused no existence of life.

SubQuestion No : 32

Q.32 Select the most appropriate option to fill in blank number 3.

Ans 1. control

2. source

3. gesture

4. symbol

Question ID : 264330128947

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Sun is the star at the center of (1) __________ Solar System. It is a nearly perfect ball of
hot plasma. The Sun has inspired us since ancient times. It’s central to mythology and religion
in (2) ____________ around the world. It keeps our planet warm enough for living things to
grow. It gives us light so we can see. It is by far the most important (3) _________of energy
for life on Earth. It is about a hundred times as wide (4)________ the Earth. If there were no
sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would
have caused no existence of life.

SubQuestion No : 33

Q.33 Select the most appropriate option to fill in blank number 4.

Ans 1. as

2. about

3. like

4. than

Question ID : 264330128948

Status : Answered

Chosen Option : 1

Comprehension:

Read the given passage and answer the questions that follow.
As the Sun inches closer to its peak activity in its solar cycle, an explosion has been picked
up behind the north-eastern limb of the star in our solar system. Solar observatories saw bits
and pieces of the explosion, which remain obscured in view from Earth's orbit.
The explosion was spotted on 31 July at around 2309 UT and Earth-orbiting satellites
registered a long-lasting C9.3-class solar flare. "The intensity is probably an underestimate
because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics Observatory
(SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar
activity, reported.
While the explosion was powerful, experts have predicted that Earth is not in the line of fire
from the Sun. Scientists are expected to get a view of the active region later this week as it
comes to sight. Earth is not in the line of fire. The explosion is significant because it may
herald an active region set to emerge over the sun's north-eastern limb later this week. A new
sunspot group could bring an end to weeks of relative quiet," space weather said in its report.

SubQuestion No : 34

Q.34 Select the most appropriate synonym of the given word from the passage.
Spotted

Ans 1. Placed

2. Splotchy

3. Witnessed

4. Speckled

Question ID : 264330128911

Status : Answered

Chosen Option : 3
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Comprehension:

Read the given passage and answer the questions that follow.
As the Sun inches closer to its peak activity in its solar cycle, an explosion has been picked
up behind the north-eastern limb of the star in our solar system. Solar observatories saw bits
and pieces of the explosion, which remain obscured in view from Earth's orbit.
The explosion was spotted on 31 July at around 2309 UT and Earth-orbiting satellites
registered a long-lasting C9.3-class solar flare. "The intensity is probably an underestimate
because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics Observatory
(SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar
activity, reported.
While the explosion was powerful, experts have predicted that Earth is not in the line of fire
from the Sun. Scientists are expected to get a view of the active region later this week as it
comes to sight. Earth is not in the line of fire. The explosion is significant because it may
herald an active region set to emerge over the sun's north-eastern limb later this week. A new
sunspot group could bring an end to weeks of relative quiet," space weather said in its report.

SubQuestion No : 35

Q.35 Select the most appropriate synonym of the given word from the passage.
Peak

Ans 1. Bottom

2. Zenith

3. Point

4. Glance

Question ID : 264330128910

Status : Answered

Chosen Option : 2

Comprehension:

Read the given passage and answer the questions that follow.
As the Sun inches closer to its peak activity in its solar cycle, an explosion has been picked
up behind the north-eastern limb of the star in our solar system. Solar observatories saw bits
and pieces of the explosion, which remain obscured in view from Earth's orbit.
The explosion was spotted on 31 July at around 2309 UT and Earth-orbiting satellites
registered a long-lasting C9.3-class solar flare. "The intensity is probably an underestimate
because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics Observatory
(SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar
activity, reported.
While the explosion was powerful, experts have predicted that Earth is not in the line of fire
from the Sun. Scientists are expected to get a view of the active region later this week as it
comes to sight. Earth is not in the line of fire. The explosion is significant because it may
herald an active region set to emerge over the sun's north-eastern limb later this week. A new
sunspot group could bring an end to weeks of relative quiet," space weather said in its report.

SubQuestion No : 36

Q.36 Select the most appropriate synonym of the given word from the passage.
Debris

Ans 1. Specks

2. Rays

3. Liquid

4. Detritus

Question ID : 264330128913

Status : Not Answered

Chosen Option : --
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Comprehension:

Read the given passage and answer the questions that follow.
As the Sun inches closer to its peak activity in its solar cycle, an explosion has been picked
up behind the north-eastern limb of the star in our solar system. Solar observatories saw bits
and pieces of the explosion, which remain obscured in view from Earth's orbit.
The explosion was spotted on 31 July at around 2309 UT and Earth-orbiting satellites
registered a long-lasting C9.3-class solar flare. "The intensity is probably an underestimate
because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics Observatory
(SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar
activity, reported.
While the explosion was powerful, experts have predicted that Earth is not in the line of fire
from the Sun. Scientists are expected to get a view of the active region later this week as it
comes to sight. Earth is not in the line of fire. The explosion is significant because it may
herald an active region set to emerge over the sun's north-eastern limb later this week. A new
sunspot group could bring an end to weeks of relative quiet," space weather said in its report.

SubQuestion No : 37

Q.37 Select the most appropriate synonym of the given word from the passage.
Partially

Ans 1. Supportively

2. Frankly

3. Partly

4. Completely

Question ID : 264330128912

Status : Answered

Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions given after it.
Tens of thousands of people who lost their homes in a catastrophic earthquake huddled
around campfires in the bitter cold and clamoured for food and water on Thursday, three days
after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February,
2023.
Emergency crews used pick axes, shovels and jackhammers to dig through twisted metal and
concrete - and occasionally still pulled out survivors.
In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing
children's coats and other supplies. Many of those who lost their homes found shelter in tents,
stadiums and other temporary accommodation, but others slept outdoors.
In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital.
Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where
destruction was not as severe as in other impacted regions.
The U.N. is authorised to deliver aid through only one border crossing, and road damage has
prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence
over wartime politics.
The scale of loss and suffering remained massive. Turkish authorities said on Thursday that
the death toll had risen to more than 16,100 in the country, with more than 64,000 injured.
In Syria, which includes government-held and rebel-held areas, more than 3,100 have been
reported dead and more than 5,000 injured.
Rescue teams urged quiet in the hope of hearing stifled pleas for help, and the Syrian
paramedic group known as the White Helmets noted that every second could mean saving a
life. But more and more often, the teams pulled out dead bodies.
It was not clear how many people were still unaccounted for in both countries.
Turkey's disaster-management agency said more than 110,000 rescue personnel were now
taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped.
The Foreign Ministry said 95 countries have offered help. More than half of that number have
sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive.
International aid for Syria was far more sparse.
Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

SubQuestion No : 38

Q.38 Match the words with their meaning.
Words meanings
a. clamoured 1. checked
b. scrambled 2. screamed
c. hampered 3. jostled

Ans 1. a-2, b-3, c-1

2. a -3, b -1, c-2

3. a-1, b- 3, c-2

4. a-2, b-1, c-3

Question ID : 264330128803

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions given after it.
Tens of thousands of people who lost their homes in a catastrophic earthquake huddled
around campfires in the bitter cold and clamoured for food and water on Thursday, three days
after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February,
2023.
Emergency crews used pick axes, shovels and jackhammers to dig through twisted metal and
concrete - and occasionally still pulled out survivors.
In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing
children's coats and other supplies. Many of those who lost their homes found shelter in tents,
stadiums and other temporary accommodation, but others slept outdoors.
In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital.
Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where
destruction was not as severe as in other impacted regions.
The U.N. is authorised to deliver aid through only one border crossing, and road damage has
prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence
over wartime politics.
The scale of loss and suffering remained massive. Turkish authorities said on Thursday that
the death toll had risen to more than 16,100 in the country, with more than 64,000 injured.
In Syria, which includes government-held and rebel-held areas, more than 3,100 have been
reported dead and more than 5,000 injured.
Rescue teams urged quiet in the hope of hearing stifled pleas for help, and the Syrian
paramedic group known as the White Helmets noted that every second could mean saving a
life. But more and more often, the teams pulled out dead bodies.
It was not clear how many people were still unaccounted for in both countries.
Turkey's disaster-management agency said more than 110,000 rescue personnel were now
taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped.
The Foreign Ministry said 95 countries have offered help. More than half of that number have
sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive.
International aid for Syria was far more sparse.
Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

SubQuestion No : 39

Q.39  How many foreign rescue workers are engaged in the rescue work?

Ans 1.  6500 rescue workers

2.  2400 rescue workers

3.  5000 rescue workers

4.  110,000 rescue workers

Question ID : 264330128801

Status : Answered

Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions given after it.
Tens of thousands of people who lost their homes in a catastrophic earthquake huddled
around campfires in the bitter cold and clamoured for food and water on Thursday, three days
after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February,
2023.
Emergency crews used pick axes, shovels and jackhammers to dig through twisted metal and
concrete - and occasionally still pulled out survivors.
In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing
children's coats and other supplies. Many of those who lost their homes found shelter in tents,
stadiums and other temporary accommodation, but others slept outdoors.
In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital.
Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where
destruction was not as severe as in other impacted regions.
The U.N. is authorised to deliver aid through only one border crossing, and road damage has
prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence
over wartime politics.
The scale of loss and suffering remained massive. Turkish authorities said on Thursday that
the death toll had risen to more than 16,100 in the country, with more than 64,000 injured.
In Syria, which includes government-held and rebel-held areas, more than 3,100 have been
reported dead and more than 5,000 injured.
Rescue teams urged quiet in the hope of hearing stifled pleas for help, and the Syrian
paramedic group known as the White Helmets noted that every second could mean saving a
life. But more and more often, the teams pulled out dead bodies.
It was not clear how many people were still unaccounted for in both countries.
Turkey's disaster-management agency said more than 110,000 rescue personnel were now
taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped.
The Foreign Ministry said 95 countries have offered help. More than half of that number have
sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive.
International aid for Syria was far more sparse.
Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

SubQuestion No : 40

Q.40 The passage highlights all the following except

Ans 1.  Syria’s rebel-held areas and the Civil war going on there

2.  the rescue work being carried out in Turkey and Syria

3.  the foreign aid being offered to Turkey and Syria

4.  the suffering of people in the earthquake hit areas of Turkey and Syria

Question ID : 264330128800

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions given after it.
Tens of thousands of people who lost their homes in a catastrophic earthquake huddled
around campfires in the bitter cold and clamoured for food and water on Thursday, three days
after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February,
2023.
Emergency crews used pick axes, shovels and jackhammers to dig through twisted metal and
concrete - and occasionally still pulled out survivors.
In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing
children's coats and other supplies. Many of those who lost their homes found shelter in tents,
stadiums and other temporary accommodation, but others slept outdoors.
In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital.
Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where
destruction was not as severe as in other impacted regions.
The U.N. is authorised to deliver aid through only one border crossing, and road damage has
prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence
over wartime politics.
The scale of loss and suffering remained massive. Turkish authorities said on Thursday that
the death toll had risen to more than 16,100 in the country, with more than 64,000 injured.
In Syria, which includes government-held and rebel-held areas, more than 3,100 have been
reported dead and more than 5,000 injured.
Rescue teams urged quiet in the hope of hearing stifled pleas for help, and the Syrian
paramedic group known as the White Helmets noted that every second could mean saving a
life. But more and more often, the teams pulled out dead bodies.
It was not clear how many people were still unaccounted for in both countries.
Turkey's disaster-management agency said more than 110,000 rescue personnel were now
taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped.
The Foreign Ministry said 95 countries have offered help. More than half of that number have
sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive.
International aid for Syria was far more sparse.
Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

SubQuestion No : 41

Q.41  Why is the International aid much lesser in Syria than in Turkey?

Ans 1. Because the UN is allowed only one border crossing and Syria is not allowing that. 

2.  Because Syria is a war –torn country and there are areas under rebels.

3.  Because the destruction was not as severe in Syria as in Turkey.

4.  Because the roads have been damaged there

Question ID : 264330128802

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions given after it.
Notwithstanding logistical challenges posed by COVID19 pandemic, India continues to
expand its rice exports footprint in the African, Asian and European Union markets, thus
having the largest share in global rice trade. The robust global demand also helped India’s
growth in rice exports.
In 2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to
17.72 Million Tonne (MT) from 9.49 MT achieved in 2019-20.
In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million in
2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export
grew by 44 per cent to Rs 65298 crore in 2020-21 from Rs 45379 crore in the previous year.
In the first seven months of the current financial year (2021-22), India’s rice exports rose by
more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October, 2020-21. It is
anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72
MT achieved in 2020-21.
In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico,
Brazil, Papua New Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where
exports were carried out for the first time or earlier the shipment was smaller in volume.
India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in 2020-
21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore).
In terms of volume of Basmati rice exports in 2020-21, top ten countries – Saudi Arabia, Iran,
Iraq, Yemen, United Arab Emirates, United States of America, Kuwait, United Kingdom, Qatar
and Oman have a share of close to 80 per cent in total shipments of aromatic long grained
rice from India.
Top ten countries – Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire, Guinea,
Malaysia, Iraq, United Arab Emirates – have a share of 57 per cent in India’s total exports of
non-Basmati rice in 2020-21 in terms of volume.

SubQuestion No : 42

Q.42 Which of the following countries imports Basmati rice from India?

Ans 1.  Nepal

2.  Malaysia

3.  Kuwait

4.  Bangladesh

Question ID : 264330128817

Status : Answered

Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions given after it.
Notwithstanding logistical challenges posed by COVID19 pandemic, India continues to
expand its rice exports footprint in the African, Asian and European Union markets, thus
having the largest share in global rice trade. The robust global demand also helped India’s
growth in rice exports.
In 2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to
17.72 Million Tonne (MT) from 9.49 MT achieved in 2019-20.
In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million in
2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export
grew by 44 per cent to Rs 65298 crore in 2020-21 from Rs 45379 crore in the previous year.
In the first seven months of the current financial year (2021-22), India’s rice exports rose by
more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October, 2020-21. It is
anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72
MT achieved in 2020-21.
In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico,
Brazil, Papua New Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where
exports were carried out for the first time or earlier the shipment was smaller in volume.
India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in 2020-
21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore).
In terms of volume of Basmati rice exports in 2020-21, top ten countries – Saudi Arabia, Iran,
Iraq, Yemen, United Arab Emirates, United States of America, Kuwait, United Kingdom, Qatar
and Oman have a share of close to 80 per cent in total shipments of aromatic long grained
rice from India.
Top ten countries – Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire, Guinea,
Malaysia, Iraq, United Arab Emirates – have a share of 57 per cent in India’s total exports of
non-Basmati rice in 2020-21 in terms of volume.

SubQuestion No : 43

Q.43  Which of the following countries imported rice from India for the first time?

Ans 1.  Iraq

2.  Brazil

3.  United Arab Emirates

4.  Bangladesh

Question ID : 264330128816

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions given after it.
Notwithstanding logistical challenges posed by COVID19 pandemic, India continues to
expand its rice exports footprint in the African, Asian and European Union markets, thus
having the largest share in global rice trade. The robust global demand also helped India’s
growth in rice exports.
In 2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to
17.72 Million Tonne (MT) from 9.49 MT achieved in 2019-20.
In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million in
2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export
grew by 44 per cent to Rs 65298 crore in 2020-21 from Rs 45379 crore in the previous year.
In the first seven months of the current financial year (2021-22), India’s rice exports rose by
more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October, 2020-21. It is
anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72
MT achieved in 2020-21.
In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico,
Brazil, Papua New Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where
exports were carried out for the first time or earlier the shipment was smaller in volume.
India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in 2020-
21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore).
In terms of volume of Basmati rice exports in 2020-21, top ten countries – Saudi Arabia, Iran,
Iraq, Yemen, United Arab Emirates, United States of America, Kuwait, United Kingdom, Qatar
and Oman have a share of close to 80 per cent in total shipments of aromatic long grained
rice from India.
Top ten countries – Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire, Guinea,
Malaysia, Iraq, United Arab Emirates – have a share of 57 per cent in India’s total exports of
non-Basmati rice in 2020-21 in terms of volume.

SubQuestion No : 44

Q.44  What is the estimate of rice export in the year 2021-22?

Ans 1.  It may fall below the 17.72 MT rice export achieved in 2020-21.

2.  It will exceed the 17.72 MT rice export achieved in 2020-21.

3.  It will remain the same as the 17.72 MT rice export achieved in 2020-21.

4.  It will not pass beyond the 17.72 MT rice export achieved in 2020-21.

Question ID : 264330128818

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions given after it.
Notwithstanding logistical challenges posed by COVID19 pandemic, India continues to
expand its rice exports footprint in the African, Asian and European Union markets, thus
having the largest share in global rice trade. The robust global demand also helped India’s
growth in rice exports.
In 2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to
17.72 Million Tonne (MT) from 9.49 MT achieved in 2019-20.
In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million in
2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export
grew by 44 per cent to Rs 65298 crore in 2020-21 from Rs 45379 crore in the previous year.
In the first seven months of the current financial year (2021-22), India’s rice exports rose by
more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October, 2020-21. It is
anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72
MT achieved in 2020-21.
In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico,
Brazil, Papua New Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where
exports were carried out for the first time or earlier the shipment was smaller in volume.
India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in 2020-
21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore).
In terms of volume of Basmati rice exports in 2020-21, top ten countries – Saudi Arabia, Iran,
Iraq, Yemen, United Arab Emirates, United States of America, Kuwait, United Kingdom, Qatar
and Oman have a share of close to 80 per cent in total shipments of aromatic long grained
rice from India.
Top ten countries – Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire, Guinea,
Malaysia, Iraq, United Arab Emirates – have a share of 57 per cent in India’s total exports of
non-Basmati rice in 2020-21 in terms of volume.

SubQuestion No : 45

Q.45  Which of the following questions cannot be answered on the basis of the above
passage?

Ans 1.  How much rice (Basmati and Non Basmati) was exported by India in 2020-21?

2.  How much Basmati rice was exported by India in 2020-21?

3.  Which top 10 countries buy Non -Basmati rice from India?

4.  What was the value of Basmati rice export from India?

Question ID : 264330128815

Status : Answered

Chosen Option : 2

Q.1 आप उन दवाओं को Ɛा कहते हœ जो Ťाही की सतह पर आबंिधत होकर इसके Ůाकृितक कायŊ मŐ िवरोध
उȋɄ करती हœ?

Ans 1. िŢया Ůेरक

2. Ůित अवसादक

3. अवसादक

4. िवरोधी

Question ID : 264330123846

Status : Answered

Chosen Option : 2

Section : General Awareness
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Q.2 सही कथन की पहचान कीिजए।
Ans 1. जूल शİƅ का माũक है।

2. Ɋूटन शİƅ का माũक है।

3. Ɋूटन बल का माũक है।

4. जूल बल का माũक है।

Question ID : 264330109878

Status : Answered

Chosen Option : 3

Q.3 भारत के उǄतम Ɋायालय ने फरवरी 2020 मŐ िदʟी दंगो ं से संबंिधत जांच के िलए िदʟी िवधान सभा
की शांित और सȥाव सिमित Ȫारा जारी समन को रȞ करने के िलए ___________ की यािचका को
खाįरज कर िदया।

Ans 1. ˘ैपचैट

2. इंːाŤाम

3. िǩटर

4. फेसबुक

Question ID : 264330123898

Status : Not Answered

Chosen Option : --

Q.4

Ans 1. a-iv, b-iii, c-ii, d-i

2. a-iii, b-iv, c-ii, d-i

3. a-i, b-ii, c-iii, d-iv

4. a-i, b-iii, c-ii, d-iv

Question ID : 264330121163

Status : Answered

Chosen Option : 1

Q.5 भारत मŐ पहली बार ‘उƅ मŐ से कोई नही’ं (NOTA) कब लागू िकया गया था?
Ans 1. 2004

2. 2010

3. 2013

4. 2015

Question ID : 26433069894

Status : Answered

Chosen Option : 2
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Q.6 2022 मŐ Ůˑािवत, Ůाŝप सूचना ŮौȨोिगकी (मȯवतŎ िदशािनदőश और िडिजटल मीिडया आचार
संिहता) िनयम, 2021 के संबंध मŐ िनɻिलİखत मŐ से कौन-सा/से कथन सही है/हœ?
A. ऑनलाइन गेʈ को एक ˢ-िनयामक िनकाय के साथ पंजीकृत करना होगा, और केवल ऐसे िनकाय
Ȫारा ˢीकृत गेʈ को ही भारत मŐ कानूनी ŝप से संचािलत करने की अनुमित होगी।
B. Ůˑािवत िनयमानुसार, ऑनलाइन गेिमंग कंपिनयो ं को गेʈ के पįरणाम पर सǥेबाजी करने की
अनुमित नही ं दी जाएगी।
C. िनयमो ं के अनुसार, एक से अिधक ˢ-िनयामक िनकाय हो सकते हœ।

Ans 1. A, B और C

2. केवल A और C

3. केवल B और C

4. केवल A और B

Question ID : 264330122808

Status : Not Answered

Chosen Option : --

Q.7 ठंड के मौसम मŐ, उȅर भारत मŐ अȑिधक ठंड के मुƥ कारणो ं के संबंध मŐ िनɻिलİखत कथनो ं पर
िवचार करŐ और पहचानŐ िक कौन से कथन सही हœ।
1. पंजाब, हįरयाणा और राज̾थान जैसे राǛ समुū के समकारी Ůभाव से दूर होने के कारण महाȪीपीय
जलवायु का अनुभव करते हœ।
2. िनकटवतŎ िहमालय की ŵेिणयो ं मŐ िहमपात के कारण शीत लहर की İ̾थित उȋɄ हो जाती है।
3. फरवरी के आसपास, कैİ˙यन सागर और तुकŊ मेिनˑान से आने वाली ठंडी पवनŐ भारत के उȅर-
पिʮमी भागो ं मŐ पाला और कोहरे के साथ शीत लहर लाती हœ।

Ans 1. केवल 1 और 3

2. केवल 1 और 2

3. 1, 2 और 3

4. केवल 2 और 3

Question ID : 264330121531

Status : Not Answered

Chosen Option : --

Q.8 सरकार का हˑƗेप, चाहे वह मांग का िवˑार करने के िलए हो अथवा इसे कम करने के िलए,
_________ कहलाता है।

Ans 1. पुनः आबंटन कायŊ

2. लेन-देन कायŊ

3. अिनिʮतता कायŊ

4. İ̾थरीकरण कायŊ

Question ID : 264330123882

Status : Answered

Chosen Option : 4

Q.9 पंजाब मŐ वषाŊ का कारण बनने वाले भूमȯ सागर से उȋɄ होने वाले शीतोˁ किटबंधीय चŢवातो ं से
िकन फसलों को लाभ होता है?

Ans 1. जायद फसल

2. खरीफ की फसल

3. नकदी फसल

4. रबी की फसल

Question ID : 264330123843

Status : Answered

Chosen Option : 4
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Q.10 िवʷ ˢा˖ संगठन (WHO) का संिवधान कब लागू Šआ था - यह वह ितिथ है िजसे अब हम Ůȑेक वषŊ
िवʷ ˢा˖ िदवस के ŝप मŐ मनाते हœ?

Ans 1. 7 अपैल 1948

2. 5 अपैल 1948

3. 8 अपैल 1948

4. 6 अपैल 1948

Question ID : 264330123819

Status : Answered

Chosen Option : 1

Q.11 मान लीिजए िक अमेįरकी डॉलर और भारतीय Ŝपये के बीच िविनमय दर $1= ₹55 है। अब यिद यह
िविनमय दर बढ़कर $1 = ₹60 हो जाती है, तो इस İ̾थित मŐ अमेįरकी डॉलर की तुलना मŐ भारतीय Ŝपये
का _______ Šआ है।

Ans 1. अवमूʞन

2. िवमुūीकरण

3. अिधमूʞन

4. मूʞवधŊन

Question ID : 26433059307

Status : Answered

Chosen Option : 3

Q.12 103वŐ संिवधान संशोधन अिधिनयम की वैधता पर उǄतम Ɋायालय के फैसले के बारे मŐ िनɻिलİखत मŐ
से कौन-सा कथन सही है?
A. इस केस के िलए, भारत के उǄतम Ɋायालय की संवैधािनक पीठ मŐ 5 Ɋायाधीश शािमल थे।
B. संवैधािनक बŐच ने 3-2 बŠमत के साथ ईडɲूएस (EWS) आरƗण के 10% को बरकरार रखा है।
C. उǄतम Ɋायालय के फैसले के अनुसार, 103वां संिवधान संशोधन वैध है, हालांिक यह भारतीय
संिवधान के मूल ढांचे का उʟंघन कर रहा है।

Ans 1. केवल B और C

2. A, B और C

3. केवल A और C

4. केवल A और B

Question ID : 264330121542

Status : Answered

Chosen Option : 4

Q.13 1911 मŐ अʚा Ɨय के अȠŊआयुकाल और उȖिजŊत अʚा कणों की ऊजाŊ के बीच एक ŮयोगिसȠ
संबंध िकसने खोजा था?

Ans 1. चैडिवक और लॉरŐस (Chadwick and Lawrence)

2. सोडी और एːन (Soddy and Aston)

3. फमŎ और मीटनेर (Fermi and Meitner)

4. गीगर और नǥल (Geiger and Nuttall)

Question ID : 264330123835

Status : Not Answered

Chosen Option : --
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Q.14 बलबन की उपािध िकसने धारण की थी?
Ans 1. अयाज खान

2. फरीद खान

3. उलुग खान

4. कबीर खान

Question ID : 264330109009

Status : Answered

Chosen Option : 3

Q.15 िनɻिलİखत मŐ से िकस अनुǅेद मŐ पूरे भारत मŐ एक समान िसिवल संिहता का उʟेख है?

Ans 1. अनुǅेद 40

2. अनुǅेद 50

3. अनुǅेद 39

4. अनुǅेद 44

Question ID : 264330110112

Status : Answered

Chosen Option : 4

Q.16 िनɻिलİखत मŐ से कौन सा/से िवकʙ संयुƅ रा Ō̓ के सतत िवकास लƙों मŐ से एक है/हœ?
(A) शू̢य भुखमरी
(B) जलवायु कारŊवाई (Climate Action)
(C) जल के नीचे जीवन (Life Below Water)
(D) गुणवȅापरक िशƗा

Ans 1. A, B, C और D

2. A, C और D

3. B और C

4. A और B

Question ID : 264330121482

Status : Answered

Chosen Option : 2

Q.17 वषŊ 2011 की जनगणना के अनुसार भारत की जनसंƥा _____ है।
Ans 1. 1.5 िबिलयन

2. 1.4 िबिलयन

3. 1.11 िबिलयन

4. 1.21 िबिलयन

Question ID : 264330109499

Status : Answered

Chosen Option : 4
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Q.18 भरत जन के नाम पर इंिडया का नाम 'भारत' रखा गया। िनɻिलİखत मŐ से िकस वेद मŐ इस जन का
सवŊŮथम उʟेख िमलता है?

Ans 1. यजुवőद

2. ऋƹेद

3. अथवŊवेद

4. सामवेद

Question ID : 264330123892

Status : Answered

Chosen Option : 2

Q.19

Ans 1. A-III, B-I, C-II, D-IV

2. A-IV, B-II, C-I, D-III

3. A-IV, B-III, C-I, D-II

4. A-IV, B-I, C-II, D-III

Question ID : 264330121512

Status : Not Answered

Chosen Option : --

Q.20 पूवŎ गोदावरी Ɨेũ मŐ कोया िवūोह िकस वषŊ Šआ था?
Ans 1. 1882-1883

2. 1874-1875

3. 1887-1888

4. 1879-1880

Question ID : 264330123888

Status : Not Answered

Chosen Option : --
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Q.21

Ans 1. i-a, ii-b, iii-c, iv-d

2. i-a, ii-c, iii-b, iv-d

3. i-d, ii-c, iii-b, iv-a

4. i-b, ii-a, iii-c, iv-d

Question ID : 264330109881

Status : Answered

Chosen Option : 3

Q.22 बीमारी के दौरान पोषण देखभाल, कायŊकलापो ं का एक संगिठत समूह है, िजसमŐ िनɻिलİखत मŐ से
िकसके अलावा अɊ सभी शािमल हœ?

Ans 1. पोषण संबंधी सम˟ाओं का िनदान

2. पोषण संबंधी आवʴकताओं को पूरा करने के िलए पोषण हˑƗेप की योजना बनाना और Ůाथिमकता
देना

3. पोषण की İ̾थित का आकलन

4. मनोवैǒािनक तनाव का आकलन

Question ID : 26433055780

Status : Answered

Chosen Option : 4

Q.23 भारत सरकार की नई एकीकृत खाȨ सुरƗा योजना के संबंध मŐ िनɻिलİखत मŐ से कौन-सा/से कथन
सही है/हœ?
A. यह नई एकीकृत खाȨ सुरƗा योजना 1 जनवरी 2023 से शुŝ की गई है।
B. भारत सरकार ने रा Ō̓ ीय खाȨ सुरƗा अिधिनयम के तहत 80 करोड़ से अिधक लाभािथŊयो ं को खाȨाɄ
आपूितŊ करने का लƙ रखा।
C. पहली बार इस खाȨाɄ आपूितŊ कायŊŢम को Ůभावी िŢयाɋयन के िलए सामािजक Ɋाय मंũालय के
अधीन लाया गया।

Ans 1. केवल A और C

2. केवल A और B

3. A, B और C

4. केवल B और C

Question ID : 264330122936

Status : Not Answered

Chosen Option : --
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Q.24 1845 मŐ िकस जमŊन रसायनǒ ने दो काबŊन परमाणु वाले एक Ůाकृितक उȋाद ‘एिसिटक अʅ’ के
संʶेषण के िलए एक िविध Ůकािशत की?

Ans 1. ůेडįरक वोहलर

2. मासőͤिलन बथőलोट

3. जोसेफ गे-लुसाक

4. हरमन कोʛे

Question ID : 26433055758

Status : Answered

Chosen Option : 1

Q.25 भारत मŐ, राǛ के महािधवƅा की िनयुİƅ कौन करता है?

Ans 1. राǛ का राǛपाल

2. भारत का Ůधान मंũी

3. भारत का रा Ō̓ पित

4. राǛ का मुƥमंũी

Question ID : 264330113409

Status : Answered

Chosen Option : 1

Q.1

Ans
1. 

2. 

3. 

4. 

Question ID : 264330128768

Status : Answered

Chosen Option : 2

Q.2

Ans
1. 

2. 

3. 

4. 

Question ID : 264330128745

Status : Answered

Chosen Option : 1

Section : Computer Knowledge Module
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Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 264330128704

Status : Answered

Chosen Option : 2

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 264330128736

Status : Answered

Chosen Option : 4

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 264330128741

Status : Answered

Chosen Option : 4

Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 264330128732

Status : Answered

Chosen Option : 1
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Q.7

Ans
1. 

2. 

3. 

4. 

Question ID : 264330128715

Status : Answered

Chosen Option : 3

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 264330128747

Status : Answered

Chosen Option : 4

Q.9

Ans 1.

2.

3.

4. 

Question ID : 264330128742

Status : Not Answered

Chosen Option : --
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Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 264330128699

Status : Answered

Chosen Option : 3

Q.11

Ans 1. 

2. 

3. 

4. 
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